EN Mounting instructions

DE Montageanleitung

FR Consignes d’installation
NL Montagevoorschrift

ES Insfrucciones de montage
IT Istruzioni di montaggio

PT Manual de montagem
EL  Odnyieg ouvappuoynig

SV Montageforeskrifter

PL Instrukcja montazu

RU  WHcTpyKums no cbopke v ycTaHOBKe
CZE Ndavod k montézi

SK  Navod na montdz

HU Szerelési elGiras

TR  Montaj k 1lavuzu

RO Insfructiuni de montaj

UK BkasiBku N0 MOHTaxi

BG WHcTpykumm 3a MOHTax

JA REDHAS

ZH AR

POW 1601 (LG 49XE4F) / POW 1602
(LG 55XE4F) LG OUTDOOR WALL MOUNT

POA 9601 (LG 49XE4F) / POA 9602
(LG 55XE4F) LG TRIM

POF 7601 (LG 49XE4F) / POF 7602

(LG 55XE4F) LG OUTDOOR FLOOR STAND

=

@®1OX

G O10xmexio

=;:,/ e

Y © 12« mex12

(D 4x M5x20

(M) 4x M4x16

@ ) (N) 2x M6x45
(F)2x 2 (©) 4x M6x40

) (

1 CHOOSE
POSITION

C? (1) 4x M8x30 A

@4x
®4x

@) 10x M4

®8x

®1x

M8

LANDSCAPE

| andscape
A
O

o d

M8 A

& ) axme

| andscape

yeiuo d

PORTRAIT

| andscape

s

2

y >

MOUNTING MATERIAL
NOT INCLUDED

MIN PULL-OUT
STRENGTH &
4 Kn PER BOLT

% '(((@ 7

1]

Hi

|\ \J J |\ J

s N\ 2 \ N
5 & POA 9601 Trim for LG 49XE4F 8
POA 9602 Trim for LG 55XE4F
ocK
(BOTH SIDES)
oﬂ &
Ha4 —~ s (TURN AND FIX)
g / \ A
SEE OTHER SIDE FOR OUTDOOR FLOOR STAND »

\ J . J J .

J

MOUIN_POW1601/2&POA9601/2&POF7601/2_V2



MOUNTING MATERIAL
NOT INCLUDED

2 (REMOVE)

MIN PULL-OUT
STRENGTH
4 Kn PER BOLT

POF 7601 (LG 49XE4F)
POF 7602 (LG 55XE4F) -
LG OUTDOOR FLOOR STAND

f4%\ T

) (

(¢

15 Nm

}\%

\@ 3 (TURN AND FIX)

\@




